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B412 E6_c67 475064.htm Prolonging human life has decreased the
dependency load. In all societies 1 people are disable or too
young or too old to work are dependentonthe 2 rest of
society to provide them. In hunting and gathering cultures old
people 3 who could keep up might be left behind and die. In
times of famine infants 4 might be allowed to die because they
could not survive when their parents starved. whereas when their
parents survived they could have another child. In most
contemporary societies people feel it a obligation to keep people live
whether or not they can work. There are a great many people who
live 5  the past age in which they want to work or are able to
work. therearerules 6 that require people to retire at a certain
age. If these people are abletosave 7 money from their
retirement, somebody else must support them. In the Unite states
many people live on social security checks, which are so considerable
8 thatthey must live in near poverty.Elder people are more
liable to become ill than young or middle-aged people.

___ 9 therefore they are wealthy or provided with private or
governmentinsurance, 10 they must often * go on welfare”
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